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— INSTRUCTIONS TO CANDIDATES

Your showdd have the follovwing for this examination:
Answer bookisr:
Nowy programmable scientific caloulator,
Anower FIVE of the following EXGHT guestivny.
slecefyrnen marks foreach port of @ question are a8 ikdicoied.
All questions carcy equal marks.
Cardidates should answer the questions in Englivhk,

This paper consists of 4 printed pages

Candidates should check the gquestion paper to ascertain that all
the pages are printed as indicated and that no queslions are missing.
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List fonr Nimctions of management. {+ marks)

State four principies of mamgement proposed by Fredrick Winslow Tavlor.

rd-marks)
Explain three contrsbutions advanced by Chris Argyris to modern manageimnent.

{6 marks)
Explain three obligations of an industrial organization o their customers. (& marks)
State four hmitztons of job production method. (& rrrarks)

Explain fonr chnllenges that masagers face when scheduling production netivities.

{8 marks)
Explain fome ways throngh which productivity of 3 produetion plant can be improved.

{8 marks)
Explain two challenges expedenced - duning workshop organization process.

i mnrkst
Beseribe the three stages of the micro-motion techaigues of method study.

{6 vk s)

Table 1, shows 2 machine operation whichinvolyes four elements, cach of five eycles.

Table I
e 2 3 3 5
r 15 3.1 32 3.4 35
o 7.0 7 6.9
3 13 i3 31 3l 32
4 34 31 38 40 33

Addibonal information:

- Element 2 15-2 machine element:

- Perfonmance mting i 120;

- Paesonal aflowance is 30 minutes 2 shift of 8 howrs;
Fatigue allowanee is 15%:; -
Contingency allowance s 2%,

Calenlate the:
f1y. average time for each element;

T slandard fime.
10 marks)
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Explain three reasons for involving employees ingushity control manapement.
{0 marks)

Dezenbe three limitations of centralized nspection. {6 marks)

Explain-four objectives of conducting gquality control inspection m'a production plant

i marks)
Crntline fonr prnciples of stores Tayout. {4 marks)
Explain cach of the following types of tenders:
{1} opel tendering:
it}  selective tendering;
(i)  negotiated rendening.

(0 marks)

Aable L shows date obtiined from records of XY £ company for manufaciure of a
prodoct.

Table 11
ftem Cost (Kshs)
Materals 8500
Transportafion 6000
Componcnts 2:500
Electricity AN
Hrre of equiprent e i

Additional information:

— Admmistrative and selling costs = 1% of direct magerials costs;
- Profit is 25% of total cost;

- Labour cost Kshs, 2(W= per hour;

- Howors worked 200,

Calealate the:
(L) Total cost of production;

() Selling price
{ I} marks)
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Explain three challenges assoviated with direct distribudon-of goods to customers.

(fr mearks)
Highlight six objectives of nade promolions in marketing. (& marks)
Deseribe fonr social factors that infwence consumes behmvionur. {& marks}

State four benefits of using: both retainer and commission remoneraion SYaten.

{4 marks)

Explain three ways through which an-employer may lerminate an employment coniract:
,a-..' .-_:: ) {6 marks)
Explain five docaments requited dunng company registralion. {10 marks}
Distinguish between vicarious linbility and strict lability. {4 mearks)

Explain cach of the following torts:

(i) assanle:

(i} defamation;

(i) lrespass. (6 marks)
Explain the following slemeats of 1‘:11;@1"1&9;’&:‘1:

(1} cleanliness:

{ii) overerowding:

{1 marks}

Explain three challenges that trade union leaders encounterin the provess of resolving
industral disputes. {6 marks}
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